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factorial :: Int —» Int
factorial n = product [1..n]
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factorial 4

product [1..4]

product [1,2,3,4]
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115 BH 2 (Recursive Functions)

Haskell Tl&. B BEZRHAVWTCHEA#BZEETES,
Z D SO E =T BT (recursive) EFE 58,

factorial O =1
factorial n = n * factorial (n-1)
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For example:
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> factorial (-1)

Error: Control stack overflow
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product :: [Int] —» Int
product [] =1
product (n:ns) = n * product ns
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For example:
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length :: [a] = Int
length [] =0
length (_:xs) = 1 + length xs
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For example:
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reverse :: [a] —» [a]
reverse [] []
reverse (Xx:Xs) reverse xs ++ [x]
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reverse [FZZYRXEZZYRMNZIEBEL., FEEZY XM, h
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For example:
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Zipping the elements of two lists:
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n+k/N\2—>: drop (n+1l) []
drop (n+1) (_:xs)
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5] (qsort = q L& HR):

L

9 [2,1] ++ [3] ++ q [4,5]
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even, odd :: Int -> Bool
even 0 = True
even n = odd (n - 1)

odd O False
odd n = even (n - 1)

EEREDEER(LDEEILIEZIE)
even, odd :: (Integral a) => a — Bool

even n = h rem 2 ==
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product :: [Int] — Int
ZEMTET S
product []
product (n:ns)

R HEEET S
product [] =1
product (n:ns) =
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product []
product (n:ns)
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product :: Num

n * product ns
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1IFE D FBER(drop)

BZzEEI HD(VALDEEND n BERZTHYERS)
drop :: Int -> [a] — [a]

BENITET S

drop 0 [] = drop n [] =
drop 0 (x:xs) = drop n (x:xs) =
MELHEEETD oo -

drop 0 [] =[1 —=——

drop 0 (X:XS) = X:XS

drop n [] = []

EHUHEERT S

drop n (x:xs) = drop (n-1) xs

_ﬁ]ﬁﬂﬁbﬁffﬁliﬂ'ﬁ drop n ( :xs) = ...
drop :: Integral b == b — [a] — [a] 20
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factorial 0 = 1
factorial n = n * factorial (n-1)

QL

MHEHR: 2 DULEOBR#N. BEVWZSELED

JAMIX 9 5B )F
product []
product (n:ns)
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n * product ns
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